

On the generalized Ramanujan-Nagell equation

$$x^2 + q^m = c^n \text{ with } q^r + 1 = 2c^2$$

by

JIAYUAN HU [†] AND XIAOXUE LI ^{††}

Abstract

Let q be an odd prime, and let c, r be positive integers with $q^r + 1 = 2c^2$. For any nonnegative integer s , let $U_{2s+1} = (\alpha^{2s+1} + \beta^{2s+1})/2$ and $V_{2s+1} = (\alpha^{2s+1} - \beta^{2s+1})/2\sqrt{2}$, where $\alpha = 1 + \sqrt{2}$ and $\beta = 1 - \sqrt{2}$. In this paper we prove the following results: (i) If $r > 2$, then $(q, r, c) = (23, 3, 78)$ and the equation $x^2 + 23^m = 78^n$ has only the positive integer solution $(x, m, n) = (6083, 3, 4)$. (ii) If $r = 2$ and $(q, c) = (U_{2s+1}, V_{2s+1})$ with $s \not\equiv 0 \pmod{4}$, then the equation $x^2 + q^m = c^n$ has only the positive integer solution $(x, m, n) = (c^2 - 1, 2, 4)$.

Key Words: exponential diophantine equation; generalized Ramanujan-Nagell equation; Pell number.

2010 Mathematics Subject Classification: 11D61.

1 Introduction

Let \mathbb{Z}, \mathbb{N} be the sets of all integers and positive integers respectively. For coprime positive integers b and c , there were many papers investigated the generalized Ramanujan-Nagell equations of the form

$$x^2 + b^m = c^n, \quad x, m, n \in \mathbb{N} \quad (1.1)$$

(see [1] and [3]-[19]).

Let q be an odd prime, and let c, r be positive integers with

$$q^r + 1 = 2c^2. \quad (1.2)$$

Recently, N. Terai [15] proved that the equation

$$x^2 + q^m = c^n, \quad x, m, n \in \mathbb{N} \quad (1.3)$$

has only the solution $(x, m, n) = (c^2 - 1, r, 4)$ under some conditions. In this paper we shall deal with the solutions of (1.3) for $r > 1$.

By the Proposition 8.1 of [2], if $r > 2$, then from (1.2) we get only $(q, r, c) = (23, 3, 78)$. We completely solve (1.3) in this case as follows:

Theorem 1.1 If $(q, c) = (23, 78)$, then (1.3) has only the solution $(x, m, n) = (6083, 3, 4)$. For any nonnegative integer k , let

$$U_k = \frac{1}{2} (\alpha^k + \beta^k), \quad V_k = \frac{1}{2\sqrt{2}} (\alpha^k - \beta^k), \quad (1.4)$$

where

$$\alpha = 1 + \sqrt{2}, \beta = 1 - \sqrt{2}. \quad (1.5)$$

It is well known that $(u, v) = (U_{2s}, V_{2s}) (s = 1, 2, \dots)$ and $(U, V) = (U_{2s+1}, V_{2s+1}) (s = 0, 1, \dots)$ are all solutions of the Pell equations

$$u^2 - 2v^2 = 1, \quad u, v \in \mathbb{N} \quad (1.6)$$

and

$$U^2 - 2V^2 = -1, \quad U, V \in \mathbb{N}, \quad (1.7)$$

respectively. Therefore, if $r = 2$, then from (1.2) we get

$$q = U_{2s+1}, \quad c = V_{2s+1}, \quad s \in \mathbb{N}. \quad (1.8)$$

In this respect, we prove the following result:

Theorem 1.2 If q and c satisfy (1.8) with $s \not\equiv 0 \pmod{4}$, then (1.3) has only the solution $(x, m, n) = (c^2 - 1, 2, 4)$.

2 Proof of Theorem 1.1

Lemma 2.1 ([20]) Let X, n be positive integers with $\min\{X, n\} > 1$. Except when $(X, n) = (2, 3)$, $X^n + 1$ has a prime divisor p satisfies $p \nmid X^m + 1$ for any positive integer m with $m < n$.

Lemma 2.2 (1.3) has only the solution $(x, m, n) = (c^2 - 1, r, 4)$ with $2 \mid n$.

Proof Let (x, m, n) be a solution of (1.3) with $2 \mid n$. Since q is an odd prime, by (1.3), we have

$$c^{n/2} + x = q^m, \quad c^{n/2} - x = 1, \quad (2.1)$$

whence we get

$$q^m + 1 = 2c^{n/2}. \quad (2.2)$$

If $m < r$, then from (1.2) and (2.2) we get $n = 2$ and

$$q^m + 1 = 2c. \quad (2.3)$$

By (1.2) and (2.3), $q^r + 1$ has no prime divisor p satisfies $p \nmid q^m + 1$. But, since $q \neq 2$, by Lemma 2.1, it is impossible.

Similarly, if $m > r$, then $q^m + 1$ has no prime divisor p satisfies $p \nmid q^r + 1$. Therefore, it is impossible. Thus, (1.3) has only the solution $(x, m, n) = (c^2 - 1, r, 4)$ with $2 \mid n$. The lemma is proved.

Let D be a positive integer which is not a square.

Lemma 2.3 ([13, Theorem 8.1]) The Pell equation

$$u^2 - Dv^2 = 1, \quad u, v \in \mathbb{N} \quad (2.4)$$

has positive integer solutions (u, v) , and it has unique positive integer solution (u_1, v_1) such that $u_1 + v_1\sqrt{D} \leq u + v\sqrt{D}$, where (u, v) through all positive integer solutions of (2.4).

The solution (u_1, v_1) is called the least solution of (2.4). Every solution (u, v) of (2.4) can be expressed as

$$u + v\sqrt{D} = \lambda_1 \left(u_1 + \lambda_2 v_1 \sqrt{D} \right)^t, \quad t \in \mathbb{Z}, \quad t \geq 0.$$

Using the same method as in the proof of Lemma 3 of [8], we can obtain the following lemma immediately.

Lemma 2.4 Let p be an odd prime with $p \nmid D$. If the equation

$$X^2 - DY^2 = (-p)^Z, \quad X, Y, Z \in \mathbb{Z}, \quad \gcd(X, Y) = 1, \quad Z > 0 \tag{2.5}$$

has solutions (X, Y, Z) , then it has a unique solution (X_1, Y_1, Z_1) such that $X_1 > 0, Y_1 > 0, Z_1 \leq Z$ and

$$1 < \left| \frac{X_1 + Y_1 \sqrt{D}}{X_1 - Y_1 \sqrt{D}} \right| < u_1 + v_1 \sqrt{D},$$

where Z through all solutions (X, Y, Z) of (2.5), (u_1, v_1) is the least solution of (2.4). The solution (X_1, Y_1, Z_1) is called the least solution of (2.5). Every solution (X, Y, Z) can be expressed as

$$Z = Z_1 t, \quad t \in \mathbb{N},$$

$$X + Y\sqrt{D} = \left(X_1 + \lambda Y_1 \sqrt{D} \right)^t \left(u + v\sqrt{D} \right), \quad \lambda \in \{1, -1\},$$

where (u, v) is a solution of (2.4).

Proof of Theorem 1.1 We now assume that (x, m, n) is a solution of the equation

$$x^2 + 23^m = 78^n, \quad x, m, n \in \mathbb{N} \tag{2.6}$$

with $(x, m, n) \neq (6083, 3, 4)$. By Lemma 2.2, we have $2 \nmid n$. Obviously, (2.6) has no solutions (x, m, n) with $n \in \{1, 3\}$, we get

$$2 \nmid n, \quad n \geq 5. \tag{2.7}$$

Further, by (2.6) and (2.7), we have $2 \nmid x$ and $0 \equiv 78^n \equiv x^2 + 23^m \equiv 1 + (-1)^m \pmod{4}$. It implies that

$$2 \nmid m. \tag{2.8}$$

Since $2 \nmid n$, we see from (2.6) that the equation

$$X^2 - 78Y^2 = (-23)^Z, \quad X, Y, Z \in \mathbb{Z}, \quad \gcd(X, Y) = 1, \quad Z > 0 \tag{2.9}$$

has the solution

$$(X, Y, Z) = (x, 78^{(n-1)/2}, m). \tag{2.10}$$

Notice that $(u_1, v_1) = (53, 6)$ is the least solution of the Pell equation

$$u^2 - 78v^2 = 1, \quad u, v \in \mathbb{Z}, \tag{2.11}$$

and $(X, Y, Z) = (17, 2, 1)$ is a positive integer solution of (2.9) satisfies $1 < |(17 + 2\sqrt{78}) / (17 - 2\sqrt{78})| < 53 + 6\sqrt{78}$. It implies that $(X_1, Y_1, Z_1) = (17, 2, 1)$ is the least solution of (2.9). Therefore, applying Lemma 2.4 to (2.9) and (2.10), we get

$$x + 78^{(n-1)/2} \sqrt{78} = \left(17 + 2\lambda \sqrt{78} \right)^m \left(u + v\sqrt{78} \right), \quad \lambda \in \{1, -1\}, \tag{2.12}$$

where (u, v) is a solution of (2.11).

We first consider the case of $\lambda = 1$. Then, by (2.12), we get

$$x + 78^{(n-1)/2}\sqrt{78} = (17 + 2\sqrt{78})^m (u + v\sqrt{78}). \quad (2.13)$$

Since $x + 78^{(n-1)/2}\sqrt{78} > 0$ and $17 + 2\sqrt{78} > 0$, we have $u + v\sqrt{78} > 0$. Hence, by Lemma 2.3, we have

$$u + v\sqrt{78} = (53 + 6\lambda'\sqrt{78})^t, \quad \lambda' \in \{1, -1\}, \quad t \in \mathbb{Z}, \quad t \geq 0. \quad (2.14)$$

Let

$$X + Y\sqrt{78} = (17 + 2\sqrt{78})^m. \quad (2.15)$$

Then X and Y are positive integers. By (2.13) and (2.15), we have

$$x + 78^{(n-1)/2}\sqrt{78} = (X + Y\sqrt{78})^m (u + v\sqrt{78}). \quad (2.16)$$

whence we get

$$78^{(n-1)/2} = Xv + Yu. \quad (2.17)$$

By (2.14) and (2.15), we have

$$u \equiv 53^t \pmod{78}, \quad v \equiv 53^{t-1} \cdot 6t \pmod{78} \quad (2.18)$$

and

$$X \equiv 17^m \pmod{78}, \quad Y \equiv 17^{m-1} \cdot 2m \pmod{78}, \quad (2.19)$$

respectively. Therefore, since $n \geq 5$ and $\gcd(17, 78) = \gcd(53, 78) = 1$, we get from (2.17), (2.18) and (2.19) that $0 \equiv 78^{(n-1)/2} \equiv 17^m \cdot 53^{t-1} \cdot 6t + 53^t \cdot 17^{m-1} \cdot 2m \pmod{78}$ and

$$51t + 53m \equiv 0 \pmod{39}. \quad (2.20)$$

Further, since $3 \mid 39$, $3 \mid 51$ and $3 \nmid 53$, by (2.20), we have

$$3 \mid m. \quad (2.21)$$

Let $k = [t/3]$ be the integer part of $t/3$. Since $t \geq 0$, k is a nonnegative integer satisfies

$$t = 3k + l, \quad l \in \{0, 1, 2\}. \quad (2.22)$$

Further let

$$a + b\sqrt{78} = \begin{cases} (17 + 2\sqrt{78})^{m/3} (53 + 6\lambda'\sqrt{78})^k, & \text{if } l \in \{0, 1\}, \\ (17 + 2\sqrt{78})^{m/3} (53 + 6\lambda'\sqrt{78})^{k+1}, & \text{if } l = 2. \end{cases} \quad (2.23)$$

Since $3 \mid m$, by Lemma 2.4, a and b are integers satisfy

$$a^2 - 78b^2 = -23^{m/3}, \quad \gcd(a, b) = 1. \quad (2.24)$$

Since $1/(53 + 6\lambda'\sqrt{78}) = 53 - 6\lambda'\sqrt{78}$, by (2.13), (2.14), (2.21), (2.22) and (2.23), we have

$$x + 78^{(n-1)/2}\sqrt{78} = \begin{cases} (a + b\sqrt{78})^3, & \text{if } l = 0, \\ (a + b\sqrt{78})^3 (53 + 6\lambda''\sqrt{78}), & \text{if } l \neq 0. \end{cases} \quad (2.25)$$

where $\lambda'' \in \{1, -1\}$.

If $l = 0$, then from (2.25) we get

$$78^{(n-1)/2} = 3b(a^2 + 26b^2). \quad (2.26)$$

Since $\gcd(a^2, 78b^2) = 1$ by (2.24), we have $\gcd(26, a^2 + 26b^2) = 1$. Therefore, we see from (2.26) that

$$b \geq 26^{(n-1)/2}, \quad 0 < a^2 + 26b^2 \leq 3^{(n-3)/2}, \quad (2.27)$$

whence we get $3^{(n-3)/2} \geq a^2 + 26b^2 > 26b^2 \geq 26^n$, a contradiction.

If $l \neq 0$, then we have

$$78^{(n-1)/2} = 6\lambda''a^3 + 159a^2b + 1404\lambda''ab^2 + 4134b^3. \quad (2.28)$$

Since $2 \nmid a$ by (2.24), we get from (2.28) that $2 \mid b$, $b = 2d$ and

$$6^{(n-3)/2} \cdot 13^{(n-1)/2} = \lambda''a^3 + 53a^2b + 936\lambda''ad^2 + 5512d^3. \quad (2.29)$$

Further, since $n \geq 5$, by (2.29), we have

$$\lambda''a^3 + 2a^2b + d^3 \equiv 0 \pmod{3}. \quad (2.30)$$

Furthermore, since $\gcd(a, b) = 1$, we get $\gcd(a, d) = 1$ and $(a, d) \not\equiv (0, 0) \pmod{3}$. Therefore, since

$$\lambda''a^3 + 2a^2b + d^3 \equiv \begin{cases} 1 \pmod{3}, & \text{if } \lambda'' = 1 \text{ and } (a, d) \equiv (0, 1), (1, 0), \\ & (1, 1), (1, 2) \pmod{3} \text{ or } \lambda'' = -1 \\ & \text{and } (a, d) \equiv (0, 1), (2, 1) \pmod{3} \\ 2 \pmod{3}, & \text{if } \lambda'' = 1 \text{ and } (a, d) \equiv (2, 1), (2, 2) \\ & \pmod{3} \text{ or } \lambda'' = -1 \text{ and } (a, d) \equiv (1, 0) \\ & (1, 1), (1, 2), (2, 2) \pmod{3}. \end{cases}$$

(2.30) is impossible. Thus, (2.12) is false for $\lambda = 1$.

Using the same method as in the above analysis, we can prove that (2.12) is false for $\lambda = -1$. Thus, (2.6) has the solution $(x, m, n) = (6083, 3, 4)$. The theorem is proved.

3 Proof of the Theorem 1.2

Lemma 3.1 ([11], [12]) The equation

$$X^4 - 2Y^2 = \pm 1, \quad X, Y \in \mathbb{N} \quad (3.1)$$

has only the solution $(X, Y) = (1, 1)$.

Lemma 3.2 ([13, Section 15.2]) Let n be an odd positive integer with $n > 1$. Every solution (X, Y, Z) of the equation

$$X^2 + Y^2 = Z^n, X, Y, Z \in \mathbb{N}, \gcd(X, Y) = 1 \quad (3.2)$$

can be expressed as

$$\begin{aligned} Z &= a^2 + b^2, \quad a, b \in \mathbb{N}, \quad \gcd(a, b) = 1, \\ X + Y\sqrt{-1} &= \lambda_1 (a + \lambda_2 b\sqrt{-1})^n, \quad \lambda_1, \lambda_2 \in \{1, -1\}. \end{aligned}$$

Lemma 3.3 For any nonnegative integer s , we have

$$U_{2s+1} = \begin{cases} 1 \pmod{8}, & \text{if } s \equiv 0 \pmod{2}, \\ 7 \pmod{8}, & \text{if } s \equiv 1 \pmod{2}, \end{cases} \quad (3.3)$$

$$V_{2s+1} = \begin{cases} 1 \pmod{8}, & \text{if } s \equiv 0 \text{ or } 3 \pmod{4}, \\ 5 \pmod{8}, & \text{if } s \equiv 1 \text{ or } 2 \pmod{4}. \end{cases} \quad (3.4)$$

Proof By (1.4) and (1.5), we get

$$U_{2s+5} - U_{2s+1} = 4(3U_{2s+2} + U_{2s+1}). \quad (3.5)$$

Since $2 \nmid U_{2s+1}U_{2s+2}$, we see from (3.5) that $U_{2s+5} \equiv U_{2s+1} \pmod{8}$. Therefore, by the initial values $U_1 = 1$ and $U_3 = 7$, we obtain (3.3).

Similarly, since $2 \nmid V_{2s+1}V_{2s+3}$ and $V_{2s+9} - V_{2s+1} = 4(51V_{2s+3} - 9V_{2s+1})$, we have $V_{2s+9} \equiv V_{2s+1} \pmod{8}$. Therefore, by the initial values $V_1 = 1$, $V_3 = 5$, $V_5 = 29$ and $V_7 = 169$, we get (3.4). The lemma is proved.

Lemma 3.4 For any nonnegative integer s , we have $(V_{8s+5}/U_{8s+5}) = -1$, where $(*/*)$ is the Jacobi symbol.

Proof By (1.4) and (1.5), we have

$$U_{8s+5} + V_{8s+5} = V_{8s+6} = 2U_{4s+3}V_{4s+3}. \quad (3.6)$$

Hence, by (3.6), we get

$$\begin{aligned} \left(\frac{V_{8s+5}}{U_{8s+5}} \right) &= \left(\frac{U_{8s+5} + V_{8s+5}}{U_{8s+5}} \right) = \left(\frac{V_{8s+6}}{U_{8s+5}} \right) \\ &= \left(\frac{2}{U_{8s+5}} \right) \left(\frac{U_{4s+3}}{U_{8s+5}} \right) \left(\frac{V_{4s+3}}{U_{8s+5}} \right). \end{aligned} \quad (3.7)$$

By Lemma 3.3, we have $U_{8s+5} \equiv 1 \pmod{8}$ and

$$\left(\frac{2}{U_{8s+5}} \right) = 1. \quad (3.8)$$

Using (1.4) and (1.5) again, we have

$$U_{8s+5} = 4U_{4s+2}U_{4s+3} - 1 = 4V_{4s+2}V_{4s+3} + 1. \quad (3.9)$$

Since $U_{8s+5} \equiv 1 \pmod{4}$ and $U_{4s+3} \equiv 3 \pmod{4}$, by (3.9), we get

$$\begin{aligned} \left(\frac{U_{4s+3}}{U_{8s+5}}\right) &= \left(\frac{U_{8s+5}}{U_{4s+3}}\right) = \left(\frac{-1}{U_{4s+3}}\right) = -1, \\ \left(\frac{V_{4s+3}}{U_{8s+5}}\right) &= \left(\frac{U_{8s+5}}{U_{4s+3}}\right) = \left(\frac{1}{V_{4s+3}}\right) = 1. \end{aligned} \tag{3.10}$$

Therefore, by (3.7), (3.8) and (3.10), the lemma is proved.

Lemma 3.5 The equation

$$X^2 + 1 = V_{2s+1}, \quad X, s \in \mathbb{N} \tag{3.11}$$

has only the solution $(X, s) = (2, 1)$.

Proof Let (X, s) be a solution of (3.11). By (1.4) and (1.5), we have

$$V_{2s+1} - 1 = \begin{cases} 2U_{s+1}V_s, & \text{if } 2 \mid s, \\ 2U_sV_{s+1}, & \text{if } 2 \nmid s. \end{cases} \tag{3.12}$$

Since $2 \nmid U_sU_{s+1}$ and $\gcd(U_{s+1}, V_s) = \gcd(U_s, V_{s+1}) = 1$, we see from (3.11) and (3.12) that either

$$U_{s+1} = a^2, \quad V_s = 2b^2, \quad X = 2ab, \quad a, b \in \mathbb{N}, \quad 2 \mid s \tag{3.13}$$

or

$$U_s = a^2, \quad V_{s+1} = 2b^2, \quad X = 2ab, \quad a, b \in \mathbb{N}, \quad 2 \nmid s \tag{3.14}$$

Using Lemma 3.1, by (1.6) and (1.7), (3.13) is false and (3.14) holds if and only if $s = 1$. Therefore, (3.11) has only the solution $(X, s) = (2, 1)$. The lemma is proved.

Proof of Theorem 1.2 We now assume that (x, m, n) is a solution of (1.3) with $(x, m, n) \neq (c^2 - 1, 2, 4)$. By Lemma 2.2, we have $2 \nmid n$.

If $2 \mid m$, then (3.2) has the solution

$$(X, Y, Z) = (x, q^{m/2}, c). \tag{3.15}$$

Applying Lemma 3.2 to (3.15), we get

$$c = a^2 + b^2, \quad a, b \in \mathbb{N}, \quad \gcd(a, b) = 1, \tag{3.16}$$

$$x + q^{m/2}\sqrt{-1} = \lambda_1 (a + \lambda_2 b\sqrt{-1})^n, \quad \lambda_1, \lambda_2 \in \{1, -1\}. \tag{3.17}$$

By (3.17), we have $b \mid q^{m/2}$. When $b > 1$, since q is a prime, we have $q \mid b$ and $b \geq q$. But, by (1.2) and (3.16), we get $c = a^2 + b^2 \geq 1 + b^2 \geq 1 + q^2 = 2c^2$, a contradiction. When $b = 1$, by Lemma 3.5, we get from (1.8) and (3.16) that $q = U_3 = 7$ and $c = V_3 = 5$. However, since $2 \nmid n$, by (1.3), we get $1 = (5/7) = (7/5) = (2/5) = -1$, a contraction. So we have $2 \nmid m$.

By Lemma 3.3, we have $U_{2s+1} \equiv (-1)^s \pmod{4}$ and $V_{2s+1} \equiv 1 \pmod{4}$. Since $2 \mid x$ and $2 \nmid mn$, by (1.3), we get $1 \equiv c^n \equiv x^2 + q^m \equiv 0 + q \equiv q \equiv U_{2s+1} \equiv (-1)^s \pmod{4}$. It implies that $2 \mid s$. Further, since $s \not\equiv 0 \pmod{4}$, we have $2s + 1 = 8l + 5$, where l is a nonnegative integer. Therefore, by (1.3) and (1.8), we get

$$\left(\frac{c}{q}\right) = \left(\frac{V_{8l+5}}{U_{8l+5}}\right) = 1. \tag{3.18}$$

But, by Lemma 3.4, (3.18) is false. Thus, if $r = 2$ and $s \not\equiv 0 \pmod{4}$, then (1.3) has only the solution $(x, m, n) = (c^2 - 1, 2, 4)$. The theorem is proved.

Acknowledgement. The author would like to thank the referee for his very helpful and detailed comments, which have significantly improved the presentation of this paper. This work is supported by the N. S. F. (11371291), G. I. C. F. (YZZ15009) of Northwest University, S.P.D.E.S.F. (15JK1744) of P. R. China.

References

- [1] S. ARIF AND F. ABU MURIEFAH, On the diophantine equation $x^2 + q^{2k+1} = p^n$, *J. Number Theory*, **95(1)** (2002), 95-100.
- [2] M. BENNETT AND C. SKINNER, Ternary diophantine equations via Galois representations and modular forms, *Canada J. Math.*, **56(1)** (2004), 23-54.
- [3] Y. BUGEAUD, On some exponential diophantine equations, *Monatsh. Math.*, **132(1)** (2001), 93-97.
- [4] Z. CAO, X. DONG, The diophantine equation $x^2 + b^y = c^z$, *Proc. Japan Acad.*, **77A(1)** (2001), 1-4.
- [5] Z. CAO, X. DONG AND Z. LI, A new conjecture concerning the diophantine equation $x^2 + b^y = c^z$, *Proc. Japan Acad.*, **78A(10)** (2002), 199-202.
- [6] X. CHEN AND M. LE, A note on Terai's conjecture concerning Pythagorean numbers, *Proc. Japan Acad.*, **74A(5)** (1998), 80-81.
- [7] M. LE, The diophantine equation $x^2 + D^m = p^n$, *Acta Arith.*, **52(3)** (1989), 255-265.
- [8] M. LE, On the generalized Ramanujan-Nagell equation $x^2 - D = p^n$, *Acta Arith.*, **58(3)** (1991), 289-298.
- [9] M. LE, A note on the diophantine equation $x^2 + b^y = c^z$, *Acta Arith.*, **69(3)** (1995), 253-257.
- [10] M. LE, A note on the diophantine equation $x^2 + b^y = c^z$, *Czech. Math. J.*, **56(131)** (2006), 1190-1116.
- [11] W. LJUNGGREN, Sätze Über unbestimmte Gleichungen, *Skr. Norske Vid. Akad. Oslo I*, **9(1)** (1942), 1-55.
- [12] W. LJUNGGREN, Über die Gleichung $x^4 - Dy^2 = 1$, *Arch. Math. Naturvid.*, **45(5)** (1942), 61-70.
- [13] L. MORDELL, Diophantine equations, *Academic Press*, London, (1969).
- [14] N. TERAJ, The diophantine equation $x^2 + q^m = p^n$, *Acta Arith.*, **63(4)** (1993), 351-358.

- [15] N. TERAJ, A note on the diophantine equation $x^2 + q^m = c^n$, *Bull. Aust. Math. Soc.*, **90(1)** (2014), 20-27.
- [16] M. TOYOPZUMI, On the diophantine equation $x^2 + D^m = p^n$, *Acta Arith.*, **42(4)** (1983), 303-309.
- [17] J. WANG AND T. WANG, The exponential diophantine equation $x^2 + (3n^2 + 1)^y = (4n^2 + 1)^z$, *Math. Slovaca*, **64(5)** (2014), 1145-1152.
- [18] P. YUAN AND Y. HU, On the diophantine equation $x^2 + D^m = p^n$, *J. Number Theory*, **111(2)** (2005), 144-153.
- [19] P. YUAN AND J. WANG, On the diophantine equation $x^2 + b^y = c^z$, *Acta Arith.*, **84(2)** (1998), 145-147.
- [20] K. ZSIGMONDY, Zur Theorie der Potenzreste, *Monatsh. Math.*, **3(2)** (1892), 265-284.

Received: 02.12.2015

Accepted: 26.09.2016

† Department of Science, Hetao College
Bayannur, Inner Mongolia, P. R. China

E-mail: hujiaoyuan1986@163.com

†† School of Mathematics, Northwest University
Xi'an, Shaanxi, P. R. China

E-mail: 1xx20072012@163.com